
Aetn A 
Loletien 

Oibc1,2,2,4? 

(viy (c) x,y 2'5 

(Vi)y s, 880 

(x) (uy |26° 

eapanattn A 
(x)oa'2:3 

2(2)+ a(2)'+ 2d-H=o 
l6 +4a + 2 k-l40 

2a4 b--l 
(7-2) aave a Aewandes sz 

2(3) al3)+zh-14= S2 
Sy+9at 3h-4= S2 

3a+ay 

clau X 

ws)(&,o) 
X0 

Co-vdnalés (o,o) Y0 

(by ye m+c 

3Y= 2 H9 
2-24+ 12O 

Co-vdnalis 

wabiea) 

40 2 M+ 12 -to 

(-6,0) 



(d) (AIC = 12o' 

32 

2) Qz |0 

z 20 (!-) 
ho x to2 3 

lo 2y 

Ratio volue 

2SG 

?3 

A(a,5) 

AC2-5) 
A(2-5) 
B'(-2,3) 

32 

2 



Ameuntnweted = 24036 

-

LHS. 

20 z 12- 2r 

4S<-2 

(l) CatA +Conec A-| 
Cot A�conee A +I 

z8,64o 

m A 

CotA-conec A t ) 

An A 

l64 

|+ CesA 
dinA 

( CotA ~ CeseeA t ) 

GtA +cecA)[|-leneyA+ta) 

(cotA + CenecA)-(exA -otn) (coxcA +tota) 

2 

B 

A BAC 
coles 

A ABD 
AACD(RHS ) 

LD 

6 DE = &C 

Aso AE AD + DE 

Radus l6:6 = 

M 

2 xo12 | oo 

P x4 24 l 

2 

2 

195 = 48 +S P 

S3 

2 



a 

|6-4 

36 312 
to20 |2 

24-32/ |G 28499 

32-4o 4 

40-48 

34|44 

436 

936 

23y 

Co-adinatis 'a (1,) 

g+4= -y(*-2) 

se,y34(x-) 
X-3y+ 6=0 

P 

Aho /A BM = /AMP = 

) MB MP 
A PMß celes 

intohect eah othe enthndy 

h PA PB =MP 
AXPB MB 

z4930 

S I2(-127-5o( 

Tubes 

(4 

2 



bom 

ton 36 z AE = AE 

2 

AE 

AE 2om 

2r0 

|40 

Yo 

30 

|340 

20 
860 

(9i(w AfN, ANP, PNA, 
PAN, NAP, 

930 
9% 

(9 
3 

the lonp pert) z |+|4| 3HS 

(y VE J232m 

ar-by 

Ahea 

+ 

NPA 

frm 

1xIsy xhel2 32 

z l232 3 

he 24 M 

2x4 d 2 



-3 

a+td= 3o 

a+IYd = 2 (a+td) -1 

1de 28 

I,s,9,13 

ghien data 

2-s-- sh-sso 

e: $-4xþxk zo 
44- 29 k=o 

P& PS 

/B 

AABD A PAS CAA) 

Ab 

("AAßC ~ APA R) 

X425-X 

AD (hy ombih) 
PS 

+2SD 60 

3 o 

(x+l or)-S(x+\oro) =0 
(-4so) (x+ loro)o 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

